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SECTION—A
Analvtical Ability

= = :]'_.?.-
Questions : 75 RMarks : 75
SHhes ! 75 Smfares 2 TS
- [~

{i} Data Sufficiency {Marks : 20)
Semod Doegsd
Nute :— [n guestions numbered I fo 20, a guestion is followed by data in the form af two
statements labelled as 1 and 1L You miust decide whether the duta given in the statements
are sufficient to answer the guesiions. Using the data make an appropriaie choice
Sram (1) fo (4) ax per the following guidelines |
(a) Mark choice (1) if the statement | alone is sulficicnt to answer the guestion;

(by Mark choice (2) if the statement Il alone is sufficient to answer the ques tion:

(¢) Mark choice (3} il both the statements | and 1l are sufficient to answer the questi
but neither stalement alone is not sufticient,

(d} Mark choice (4) if both the statements [ and 1] together arc not sufficient (o answer
the questions and additional data is required.
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1. What is A B {4)
AnBoin 7
(y A=1{3,45} (I) B=A=1{1,2}
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14, wifive real numbers

X, yand z7¢1)

(M) x4z>2|y
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19. Whatis the cost of pal g a room which is ofthe form ot a cube 74
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(ii) Problem Solving {Marks : 55)
Rdcdre Srgd
o
(a) Sequence and Series (Marks ; 25)
Note :—/n each af the guestions numbeéred 21 to 35 a sequence of numbers or lerters that follow
¢ definite patiern is given. E',-;_ffr,-*i :;z:?srfon has a blawk space. This has to be filled by the
correct answer from the four given options to compleie the sequence without hreaking

the pattern.
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23, 599 9999, 999904 .. 9909959099

(1} 9999999 {'{9999@%9 (3) 999999999 (4) 99999999999

» 3015 63 1023
o476 64”1024

197 \/ 255 5 U Pl

2 =%= 3y Toa {4y —=

{ : 1.2 e aal ’ JlZ ,.'_.,E

250 3,157 - 2l (No Answer)

{1y 9 (2) 11 (3) 15 4y 17
26. DFLEGJ FHK,........., HIM
(1) GIM ) GIL (3) HIN (4) HIM

27. 44413, 94410, 25+ 44
(1) 14+47 (2) 15447 (3Y 16++7 4} 19+47
28. A9Z,B7Y,C5X,....,EIV
(1) D2IW (Z2) D4W (3) DU % D3w

20, B:8l1::6:....,
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49, What is the percentage excess of the number of boys in the primary school o those in the middle

school 7

el TAbE-] Sedareredt aspTe N GIe K:ongé:(:w, :;.ﬂqugil:-ﬁ SraradTa @ erm 00O ?buq;ug Iy
=

2 wd
(1} 85% ) 100% (3) 90% (4) BO%

50. Which number of the lollowing is the highest ?

{1} Boysinthe high school (2) . Girlsin the pnmary school
{3} Girlsin the middle school ?—’{-{ Boys in the middle school

(1) &5yd Srdgrod™d) wwriowe Jopg (2) |rdand ST OETY BT 00N wog
(= . L= \a-

a s 1 . T 3 D my Ay i =
(3} Brzins e SrEaeed T Jm}“‘ux.:t.:l Somg (4} Homidg s ol S TRV T AT eI owE
ok 2 28

Note :—Study the following pie chart and answer the questions 51 {0 53,

el i — (Bob BT Surny Hes (BEe 51 Sood S50 marwedigod.

Expenditure Paitern of My, Jaideep
Monthly salary of Mr. Jaideep is Rs. 24,000 in 2006

Incomes Tax

rp ooty o

| 30%

51. What is the ratio of the amount meant for others to thatof food 7
adored Baronond PHu), edord BOTewodd TBwye JWHE
w705 (2) 17:30 (3) 15:7 (4) 3:4

52. What is the amount of rent paid by Mr. Jaideep per month ?
5; w D8 Jo o 380x 5 e [
(1) Rs. 7500 ‘{ Rs. 8000 {3} Rs.8500 (4} Rs. 9000

=
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33, What is the angle made by the sector representing the transport cxpenditure ?
Sareee gdonds Srdod 538 erfds 9w Emo

(1) 41-8" 2y 422¢ 74320 (4} . 38-6%

54. ML Jaideep’s salary increases by 10% and income tax al

componenis have the samu Cpercentage as

o increases by 10% over 1ts exist

then what will be his new savings, given th

a5k = w, e [T e P T - S
Hi0 Fend £Lado 109% oo ~ET Sdc o 100
v ad o .
M E A e e e -
el Red plonw Trarodt 2006 Srodm St VS PG Jog 7
& <

(1) Rs. 1940 (2) Rs. 2080 (3) Rs. 2240 “ Rs. 1848

1 loss of pay

33, Mr Jaideep could not go to work for six days in June 2006 due to i1l health and it was

. 7

dunng that period. At the end of that month, what was his net sal ary after payment of income lax

A = o —ep TR vy _— a = 17 3
280 wordi: sderaido oD 20067 6 Soren SDE
. - N — af B . gy
w:\.-:[..,-'f\..- Jfé.-a ..%L'\jl'..'l tjC—' JE_E...L.:IQ.JL..\.-. = & f.'.é:\..-

SN Bdnn
(1) Rs. 14,800 2l Rs. 13440 (3) Rs. 12,880 Rs. 13,220

(¢) Coding and Decoding Problems : {(Marks : ]
Nore @ for guestions 56 jo 65
56 Seol 65 8% (94 hLIE-I

rlish word of nletters is coded as follows :

Inacodean B

(1} [T" 1s even, cach ol the first — lIetlers of the word are shifted forward by 3 places, the last
v
n 1 [ 1 - 4
- letters are shified backward by 3 places,
“
M) I¥nis odd, cach of the first —— letters of the word are shifted forward by 3 places, the
2
n—1
last — letters arc shifted backward by 3 places and the middle letter is fixed. For example

OISON is coded as SRLPLEK and EMOET is coded as HPCE

Decoding is the inverse process of this coding, va' this coding and decoding procosses answer
the questions 36 to 65,

. 5= . Y — Ny I Y S— SR TS e B
a8 B'G gt n l.-i—"fii-"'-".-? e Lo, L-E.C-L.- ;:'-._.?--’.‘ll" 55 Sdbadoh
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64, ljagonal into two equal triangles. Wl it s the minimum mumber

1gles shall have (o be cut so that these pieces together with the

D which one of ‘:i'l;—’ t
angle could be arranged as a rectungle 7

s e, ) S e M L
L RS | TS Booown

. . . L . T SV . R
TREeDy, orh DEGBs aedor E838od Tody SHrD (Bdberonm

~'-.z5t.,rm, LL .;_u,::-*"tu e,

(4} 5

6 iz a saturday, which day of the week was on December 1 of the nrevious

(2} TFrday Thursday

£

=% T e S — . =
e AT Shee HDardo oD, somds 15 E4,

(2 dnEardo (3} s=&a-do 4y Haoardo

72, of the youth are educated and < of the you 1ployed. If the number of
unemployed yvouth is 128, how many educatec youth are therc in that village 7
e |rHsodtn oo *:3‘3 L gos Jogdosior, L g &&° giidowa, (e QS
e B =i = =
D8 el aindHhe Dogy 128 wond, © MRS, Jodcwond dudbho Romg
(1) 50 @) 55 (3) 65 40
- -

o -2 |<3} =

[ B
ay {1,2,3 (3) {2,3,4,5} @) {2.3)
i 14 3 k)

£y father and his son was 11 : 3. If the ratio of their present

- i -
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Mathematical Ability
Bl edaday
=3

Questions ; 75

EHes 75 Sreln.e
It

(i) Arithmetical Ability

T 3% 2
76, If a"=b"=c*=0 and a”"=bc then xy+ vz +zx =

% \ z \ 2 1 ]
a=b'=c"=0,a"=bc won® xy+yz+ 7= /
(1) 2xy (2) 3xy (3) 2y (%) 3y
R ] 1 1
77. Forany o U. ___; iy —_—5——— + .“-_-T__E- =
I+o" 4+ l+o° +ow [+ +o
. 8 X ! 1 1
(B2 a=08 T = BT g LTI
l+a” +o I+ +o " 14+a ™ +a
i 1 + .):2 R 4 %) wl T / ‘AN
(1) ( o {2) o 3y 1 4y 0
- dy 2
78, If x=-= then == =
Ay T
X=-21 @ond —L =
5 Ix
15 6 3 5
Yy o— {7y — = 1] —
{I y Cs '\‘z.' o :.'Q/‘ A '-L:'J ,;}

Lol T - - e E I e E
79. Tfa, b, ¢ are positive integers such that a” +b* + ¢ =1197. a:b=3:2 and b:c=3:2

7 b=

i
w
4]

o]

: . 2 T2 D - o
g5 Wrorosten a,b,c @0 @+ b+ =1197, a:b=3:2, b:c=3:2 eoThoey

(1) © N‘(is 3) 27 4) 36

\

- - 1
80. If x=5+2/6 then vx —— =

x=5+2/6 wond Vx - — =

't_l' x
= : ‘/ o

(1) 5 (2} 246 @ 8
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125. A purse contar

ns some two-rupee coins, one-rupee coins and 50 paise coins in the ratio of

1 . . . -
: = ). If the total money in the purse is Rs. 210 then the number of
)

¢ PR s S . T3 . . o
rofie mrrren, ad drdrow mrareos, 50 RRe grotes S

W
= — i.'l‘*":' e ==y
L. ]

’ i';'\-

o)
il
=
]
b

) & "‘""‘"*t ‘N deo)y Fedo dr. 210 B unDH

- =
TETW DO%E ‘/
60 (31 50 (4) 40
126. ti¢ progression and a, b, ¢ are in geomelric progression

At LT == In=il
a,b,cen haRES e aoB a” L BT M =

N . _
Joa =39+ 133 wmowmd n=
i

ko1

128, The least value of n such that

1 -3+3°+ ... +3 =2007s

+ 3" > 2007 o ThedooB n 0% Jess
T =
{2}y 8 {3y 9 4y 10
129 of 7 in the expansionof {1 4+ 3x)7 (1 —-x) 15

. 3 . 5 . .
(=37 (1 -xYy " %7 fomEo /
(1) 18 25 M o27 (4) 22

1 [ \
- 1 . -
3 4 b, fy
. A —1 A = ! | wmonmE A=
L a 1)

(1) 1 ) -I 3 A ?(—r
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148. The probability of getling a composite number w
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158. A person who is extremely ¢z ful in spending is called _

\V/p.-_rmm_-:md-h (2} ’;_331‘::1:111&3

n,
(3) paranocid {4) parasitic
In his usual __manner, he had insured hir nself against this type of loss.

{1) pensive (2) providential

circumspect

160. After a strenuous work-out, Harish felt _ hungry.
raucously (2} ravishingly
{3) rapaciously ) ravenously
PART 2
Choose the correct answer |
161. Wi Max stands for

(13 Wireless Maximum Conne otivity

o Worldwide Interoper -ability 1

(3} Wireless Interconnectivity for Maximum Access

(4) Worldwide Interconnectivity for Maximum Access

162, Spoofing means
}?,-/ar. antrusted host connecting to the nebwork prets ding to be a true host

(2) Spitting virus indiscri minately

ipes on a large scale

| commercial mes:

1]
-

S

sending unsolicite

wilful creation of internet traffic jam

o~
Fcy
o

A manager T

163. Computer software which converts d Jats

take better decisions is known as

b

. Derivative is a
?_“(,-/r"rri'u“-“" instrument (2} statutory record

(3) government directive {4) guideline by SEBI
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Fili in the blank with the appropriate phrase;

178. I have seen the film and

o has she

179, Raju would never have taken the job, if

time. /

4 -y 1 P r Il L. 1 - .
{1} he knows {f} he had knowm (33 he was knowing (4) he has known
) A £

180. T am very fond of the theatre, but on the whole, I prefer sericus drama-

R Y | 4 -", A
1) than L) o s:‘ (=)

181. Youg conduet smacks _ _ _recklessness,

182. Children went r sl theru
" LR .
(1) Dicked up )
(3) picked away (4) picked at

183. He

{.iy;:ﬂ.ﬂ:a-':d on
(¥} passed over

184. He knew he had been rude, but instead of apologizing he tried to S

laugh it off (3

Lj) ld.d th it aw ay 'L:r"_?

qE Tt+* 1 At r a ot
185, It’s getting cold. You YOur coat.
{1} have better take {2} must have taken
.| + F A
¥}  had betier take ()

t i
'1‘.-'.:':.'.::‘:, but onl the ruby-

out .11/.: species

throated hummir 191*1!02 'l.x".-'-"ﬁ in eastern North Aa rom N

The greatest variety and number of species are found in Seuth America.
nmingbird found in western South

about 8 inches long and weighs abouwt

Meny hummingbirds are minute. But even the giant hur
America, which is the largest known hummingbir

two-thirds of an ounce. The smallest of the species

y more than 5-5 centimetres

and weighs about two grams

(R T.O)

.
-
-
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Hummingbirds’ bodies are compact, with strong muscles. They have wings shaped like
blades. Unlike the wings of other birds, hummingbirds’ wings connect lo the body only at the
shoulder joint, which allows them to o fly not only forward but also straight up and down, sidewa ys.
and backward. The hummingbird’s beak adapted for securing nectar from certain types of flowe

is usually rather long and always slender, and is curved slightly downward.

The rate at which a hummingbird beats its wings does not vary, regard Iv«s of whether it is
flying forward, or merely hovering. But the rate does vary with the size of the bird — the larger the

bird, the lower the rate.

186. According to the passage, where are the hummingbirds found 7

{1y throughout the world _ (2} in South America only

{3}  inXMorth Americaonly : l\ﬂ/w MNorth and South America
187. The word *mirnte’ in the second paragraph is closcst in meaming to

H’,/zfxm:mcly tiny (2)  extremely fast

(3} unique (4) organized

188. How are hummingbirds’ wings different from those of other birds 7

{1} They are stronger (2} They are weaker
?L/ They are commected only at the shoulder {4) Theyareimmobile

189, Therate at which a humminghbird’s wings beat is related to

it§ size {2) thedircction ofits flight
(3) theheight atwhich it is flying {4) the species to which itbelongs
I}

190, Which of the following is true according to the passage '
(1) Hummingbirds have a straight beak
(2) Large hummingbirds beat their wings faster than the small ones do
(1) All hummingbirds are minute

?3/ Hummingbirds feed on nectar of flowers

Read the foillowing passage and answer guestions 191 — 195 ;
When T was a child, gentlemen used to raise their hats to female acquaintances on the street
and [ was taught to mind my Ps and Qs and to give up my seat for my ‘elders and betters’ on the
bus. Now I am grown-up, no one cither raises their hat to me or offers me a seal on a crowded bus.

It’s as if courtesy itself is now a thing of the past ! Some might call it prim or starchy to hanker
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nter. When

o

after an old-fashioned code of etiquette, but thing

or ladylike way. | don’t believe that people observed the

s must somehow have been ple:

t doing the done thing; it was more a matter of

‘1("{‘1}_1' ETACes ‘_,1_ L “_;t"_‘.}j_!_'.ﬁ-f[."_. i:"t-}’ WEre anx

being considerate to others and oiling -“__'-‘._ﬁ_c- '-.%-".-_cc-l_-t- of social interaction. 5o, let’s stop béing ofthand

with each other and stand on ceremony just a little more.

191. To mind m*a Pz and Qs means

{1} toknow the English alphabet {2} to make an cifort to be polite

(3} to be strict {4} 1to be careful

LIS,

hat have people almost forgotten today 7

T’}/ courtesy (2} kindness

(3) tolerance (4)

193, What doe

(2} formal rules of behaviour

M) polite behaviour in arather formal way

(3 informal behiaviour

194. What does the term “the done thing’ indicat

socially acceptable behaviour (23 todo something

behaviour

{3) tocomplete a job (4} socially 1

o the wheels af social inte iont meaan ?

nake interpersonal relationship casier

{21 to smoothen social Behaviour

ere |. ke a r].!-h:-—y\_-'u:-_-'

Burning coal ar
muarror. 1t allows the sun's ace but prevents heat

emitted by 1

the earth. A co

T .
1g back intc space. This results in increasing the temperature of

e carbon dioxide is absorbed by the oceans and the forests. However,

unable to cope with all the excess qL_.‘-mtf'L'ig.g :_‘-[Gd‘._;-':,";{i by industrial

these two reservo

es. have diminished

¢ climate of i.hs

1 WPy =
c CX Hda nsg

world is goi)

33 (PT.0.)
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Meele: Ouestion Moz 25 aml 70 have no ansaers
i3 Twro marhs will e athded Lol candidaies

ji.) Qruestion Mo A8 have two slier nule answees (1) ar (4)



